

Jerzy Popenda

REMARK ON A PAPER OF TURINICI

This note contains three examples of discrete inequalities which can be proved simultaneously as their continuous analogies by the same theorem valid on an ordered linear space.

In his paper [8] M. Turinici proved some kind of comparison theorem which is valid on an ordered linear space. As an application of his theorem Turinici considered Gronwall-Bellman integral inequalities recently studied by Pachpatte [3]. The aim of this paper is to show that Turinici's result can be applied to Gronwall type discrete inequalities; so, it is a handy tool for obtaining estimations both in the continuous and discrete case. We give three examples of new discrete inequalities which can be proved using Turinici's theorem.

Following Turinici denote by X a linear space, X_+ a non-empty convex and pointed cone in X . The ordering \leq on X induced by the cone X_+ is defined in the usual way $x \leq y$ iff $y - x \in X_+$. A mapping $T: X \rightarrow X$ is said to be monotone iff $x \leq y$ implies $Tx \leq Ty$. Also, $T: X \rightarrow X$ is called a normal mapping iff

a) T has a unique fixed point $z = z(T) \in X$,

b) if $x \in X$ is such that $x \leq Tx$ then $x \leq z$.

Theorem (2.2 [8]). Let $T_1: X_+ \rightarrow X_+$, $i=1, \dots, t$ be monotone for all i , and $\sum_{i=1}^t T_i$ be a normal mapping. Then for every solution $x \in X_+$ of

$$(1) \quad x \leq T_1[x + T_2[x + \dots + [x + T_t[x]] \dots]]$$

we have

$$(2) \quad x \leq T_1[(T_1 + T_2) [\dots [(T_1 + \dots + T_{t-1})[z]] \dots]]$$

where z is the unique fixed point of $\sum_{i=1}^t T_i$.

Denote by N - the set of positive integers, s - the linear space of all real sequences $x = \{x_n\}_{n=1}^{\infty}$, by s_+ - the cone of nonnegative sequences.

It is supposed, for $f: N \rightarrow R$

$$\sum_{j=n}^{n-1} f_j = 0 \quad \text{and} \quad \prod_{j=n}^{n-1} f_j = 1.$$

L e m m a 1. Let $a \in s_+$, x_0 be nonnegative constant. The operator $T: s_+ \rightarrow s_+$, defined by

$$(3) \quad T[x] = \left\{ x_0 + \sum_{j=1}^{n-1} a_j x_j \right\}_{n=1}^{\infty}$$

is normal, with the unique fixed point

$$z = \left\{ x_0 \prod_{j=1}^{n-1} (1+a_j) \right\}_{n=1}^{\infty}.$$

P r o o f . We can easily check that z given above is a fixed point of T . Furthermore if $y \in s_+$ is such that $y \leq T[y]$ then $y \leq z$, so T is normal. Q.E.D.

Observe that T is monotone.

T h e o r e m 1. Let $a^k \in s_+$, $k=1,2,\dots,t$ and x_0 be any nonnegative constant. If $x = \{x_n\}_{n=1}^{\infty} \in s_+$ is a solution of

$$(4) \quad x_n \leq x_0 + \sum_{j_1=1}^{n-1} a_{j_1}^1 (x_{j_1} + \sum_{j_2=1}^{j_1-1} a_{j_2}^2 (x_{j_2} + \dots + \sum_{j_t=1}^{j_{t-1}-1} a_{j_t}^t x_{j_t})), \quad n \in \mathbb{N}$$

then

$$(5) \quad x_n \leq x_0 + \sum_{j_1=1}^{n-1} v_{j_1}^1 \left(x_0 + \sum_{j_2=1}^{j_1-1} v_{j_2}^2 \left(x_0 + \dots \right. \right. \\ \left. \left. \dots + \sum_{j_{t-1}=1}^{j_{t-2}-1} v_{j_{t-1}}^{t-1} x_0 \prod_{j_t=1}^{j_{t-1}-1} (1 + v_{j_t}^t) \dots \right) \right), \quad n \in \mathbb{N}$$

where

$$(6) \quad v_n^k = \sum_{j=1}^k a_n^j, \quad k = 1, 2, \dots, t.$$

P r o o f . Let us take for $y = \{y_n\}_{n=1}^{\infty}$

$$(7) \quad T_1[y] = \left\{ x_0 + \sum_{j=1}^{n-1} a_j^1 y_j \right\}_{n=1}^{\infty}$$

and

$$(8) \quad T_k[y] = \left\{ \sum_{j=1}^{n-1} a_j^k y_j \right\}_{n=1}^{\infty} \quad k = 2, \dots, t.$$

The operators (7) and (8) are monotone. By Lemma 1 the operator

$$\left(\sum_{k=1}^t T_k \right) [y] = \left\{ x_0 + \sum_{j=1}^{n-1} v_j^t y_j \right\}_{n=1}^{\infty}$$

with v_n^t defined by (6) is a normal mapping of which the unique fixed point is

$$z = \left\{ x_0 \prod_{j=1}^{n-1} (1 + v_j^t) \right\}_{n=1}^{\infty}.$$

Hence (5) follows from (2).

R e m a r k 1. By Remark 2.2 [8] we may obtain a weaker estimation of x , namely

$$x_n \leq x_0 \prod_{j=1}^{n-1} (1 + v_j^t), \quad n \in \mathbb{N}.$$

Inequality (4) for the case $t = 2$ was considered in [1] and [2].

As the second example we consider discrete analogs of the Gronwall-Wendroff type inequalities.

Denote by s^2 the linear space of functions $x = \{x_{n,m}\}_{n=1}^{\infty} \in \mathbb{N}^2 \rightarrow \mathbb{R}$ and by s_+^2 the subset of s^2 with $x: \mathbb{N}^2 \rightarrow [0, \infty)$. Furthermore, put $\overline{1,k} = \{1, 2, \dots, k\}$. For any $a \in s^2$ we define

$$(9) \quad \sum_{\substack{p \in \overline{1,n} \\ q \in \overline{1,m}}}^2 a_{p,q} = \sum_{\substack{n > p_1 > p_2 > \dots > p_r \geq 1 \\ m > q_1 > q_2 > \dots > q_r \geq 1}} \prod_{k=1}^r a_{p_k, q_k}$$

for $1 \leq r \leq \min(n, m)$

and

$$\sum_{\substack{p \in \overline{1,n} \\ q \in \overline{1,m}}}^2 a_{p,q} = 0 \quad \text{for the cases } r > \min(n, m) \text{ or } n < 1 \text{ or } m < 1.$$

For the basic properties of the above summation operator see [4].

L e m m a 2. Let $a \in s_+^2$, and x_0 be a nonnegative constant. The operator $T: s_+^2 \rightarrow s_+^2$ defined by

$$(10) \quad T[x] = \left\{ x_0 + \sum_{j=1}^{n-1} \sum_{i=1}^{m-1} a_{j,i} x_{j,i} \right\}_{n=1}^{\infty} \in s_+^2$$

is normal with the unique fixed point

$$(11) \quad z = \left\{ x_0 \left(1 + \sum_{r=1}^{m-1} \sum_{\substack{p \in \overline{1, n-1} \\ q \in \overline{1, m-1}}}^2 a_{p,q} \right) \right\}_{n=1}^{\infty} \quad m=1$$

P r o o f . It is easy, by using properties of (9) to check that z defined by (11) is the solution of the equation

$$z_{n,m} = x_0 + \sum_{j=1}^{n-1} \sum_{i=1}^{m-1} a_{j,i} z_{j,i} \quad (n,m) \in \mathbb{N}^2.$$

Furthermore by Theorem 1 in [4] if $y \leq T[y]$ then $y \leq z$. Hence T is normal. Q.E.D.

Note that T is a monotone mapping on s_+^2 .

T h e o r e m 2. Let $a^k \in s_+^2$, $k = 1, \dots, t$, x_0 be non-negative constant. If $x = \{x_{n,m}\}_{n=1}^{\infty} \quad m=1}^{\infty} \in s_+^2$ is a solution of

$$(12) \quad x_{n,m} \leq x_0 + \sum_{j_1=1}^{n-1} \sum_{i_1=1}^{m-1} a_{j_1,i_1}^1 (x_{j_1,i_1} +$$

$$+ \sum_{j_2=1}^{j_1-1} \sum_{i_2=1}^{i_1-1} a_{j_2,i_2}^2 (x_{j_2,i_2} +$$

$$\dots + \sum_{j_t=1}^{j_{t-1}-1} \sum_{i_t=1}^{i_{t-1}-1} a_{j_t,i_t}^t x_{j_t,i_t})), \quad (n,m) \in \mathbb{N}^2$$

then

$$(13) \quad x_{n,m} \leq x_0 + \sum_{j_1=1}^{n-1} \sum_{i_1=1}^{m-1} v_{j_1, i_1}^1 \left(x_0 + \sum_{j_2=1}^{j_1-1} \sum_{i_2=1}^{i_1-1} v_{j_2, i_2}^2 (x_0 + \dots \right. \\ \left. \dots + \sum_{j_{t-1}=1}^{j_{t-2}-1} \sum_{i_{t-1}=1}^{i_{t-2}-1} v_{j_{t-1}, i_{t-1}}^{t-1} z_{j_{t-1}, i_{t-1}} \dots \right), \quad (n, m) \in \mathbb{N}^2,$$

where

$$(14) \quad z_{n,m} = x_0 \left(1 + \sum_{r=1}^{m-1} \sum_{\substack{p \in \overline{1, n-1} \\ q \in \overline{1, m-1}}}^2 \left(\sum_{k=1}^t a_{p,q}^k \right) \right) \\ v_{n,m}^k = \sum_{j=1}^k a_{n,m}^j \quad k = 1, \dots, t-1, \quad (n, m) \in \mathbb{N}^2.$$

Proof of this theorem follows by Lemma 2 in a similar way to that of Theorem 1.

Remark 2. A weaker estimation of x , by Remark 2.2 [8] is $x_{n,m} \leq z_{n,m}$, $(n, m) \in \mathbb{N}^2$ where $z_{n,m}$ is given by (14).

The result of Theorem 2 generalizes some cases of inequalities considered in [6] and [7].

In the third example instead operators of summation we use operators of the form

$$(15) \quad T[x] = \left\{ \prod_{j=1}^{n-1} a_j x_j \right\}_{n=1}^{\infty}$$

and

$$(16) \quad T[x] = \left\{ a_n \prod_{j=1}^{n-1} x_j \right\}_{n=1}^{\infty}$$

acting from s_+ into s_+ for $a \in s_+$. Observe that these operators are monotone.

L e m m a 3. The operator (16) is normal with the unique fixed point

$$(17) \quad z = \left\{ a_n \prod_{j=1}^{n-1} (a_j)^{2^{n-1-j}} \right\}_{n=1}^{\infty}.$$

P r o o f . We prove that z given by (17) is the unique fixed point of (16). Indeed

$$\begin{aligned} T[z] &= \left\{ a_n \prod_{j=1}^{n-1} z_j \right\}_{n=1}^{\infty} = \left\{ a_n \prod_{j=1}^{n-1} a_j \prod_{i=1}^{j-1} (a_i)^{2^{j-1-i}} \right\}_{n=1}^{\infty} = \\ &= \left\{ a_n \prod_{j=1}^{n-1} (a_j)^{\left(1 + \sum_{i=0}^{n-2-j} 2^i\right)} \right\}_{n=1}^{\infty} = \left\{ a_n \prod_{j=1}^{n-1} (a_j)^{2^{n-1-j}} \right\}_{n=1}^{\infty} = z. \end{aligned}$$

Let $y = T[y]$ and $y \neq z$. We get

$$y_1 = a_1 \prod_{j=1}^0 y_j = a_1 = z_1.$$

Suppose $y_k = z_k$ for $k = 1, 2, \dots, m$. Hence

$$y_{m+1} = a_{m+1} \prod_{j=1}^m y_j = a_{m+1} \prod_{j=1}^m z_j = z_{m+1}.$$

So we get $y_m = z_m$ for all $m \in \mathbb{N}$. Therefore z is the unique fixed point of T . Let now $y \in s_+$ be such that $y \leq T[y]$. Hence

$$y_1 \leq a_1 \prod_{j=1}^0 y_j = a_1 = z_1.$$

Supposing $y_k \leq z_k$ for $k = 1, 2, \dots, m$ in a similar way we obtain $y_{m+1} \leq z_{m+1}$. From this it follows $y \leq z$. Q.E.D.

Theorem 3. Let $a^k \in s_+$, $k = 1, 2, \dots, t$. If $x \in s_+$ is a solution of

$$(18) \quad x_n \leq \prod_{j_1=1}^{n-1} a_{j_1}^1 \left(x_{j_1} + \right. \\ \left. + \prod_{j_2=1}^{j_1-1} a_{j_2}^2 (x_{j_2} + \dots + \prod_{j_t=1}^{j_{t-1}-1} a_{j_t}^t x_{j_t} \dots) \right), \quad n \in \mathbb{N}$$

then

$$(19) \quad x_n \leq \prod_{j_1=1}^{n-1} a_{j_1}^1 \left(v_{j_1}^2 \prod_{j_2=1}^{j_1-1} v_{j_2}^3 \left(\dots \right. \right. \\ \left. \left. \dots v_{j_{t-1}}^t \prod_{j_t=1}^{j_{t-1}-1} (v_{j_t}^t)^{2^{-1-j_t+j_{t-1}}} \dots \right) \right), \quad n \in \mathbb{N}$$

where

$$v_n^k = \sum_{s=1}^k \prod_{j=1}^{n-1} a_j^s \quad k = 2, \dots, t.$$

Proof. Let us take

$$T_k[x] = \left\{ \prod_{j=1}^{n-1} a_j^k x_j \right\}_{n=1}^{\infty}$$

then

$$\left(\sum_{s=1}^k T_s \right) [x] = \left\{ v_n^k \prod_{j=1}^{n-1} x_j \right\}_{n=1}^{\infty}.$$

The operator

$$\left(\sum_{s=1}^t T_s \right) \text{ is of the form (16).}$$

Hence by Lemma 3 and (2) we obtain (19).

R e m a r k 3. For the case $t = 2$, (19) is

$$x_n \leq \prod_{j_1=1}^{n-1} a_{j_1}^1 \left(v_{j_1}^2 \prod_{j_2=1}^{j_1-1} (v_{j_2}^2)^{2^{-1-j_2+j_1}} \right), \quad n \in \mathbb{N}.$$

By Remark 2.2 [8] we may get another estimation of x , namely

$$x_n \leq v_n^t \prod_{j=1}^{n-1} (v_j^t)^{n-1-j}, \quad n \in \mathbb{N}.$$

REFERENCES

- [1] R.P. Agarwal, E. Thandapani: On discrete generalizations of Gronwall's inequality, Bull. Inst. Math. Acad. Sinica 9, 2 (1981) 235-248.
- [2] B.G. Pachpatte: Finite difference inequalities and their applications, Proc. Nat. Acad. Sci. India 43 (A) (1973) 348-356.
- [3] B.G. Pachpatte: A note on Gronwall-Bellman inequality, J. Math. Anal. Appl. 44 (1973) 758-762.
- [4] J. Popenda: On the discrete analogy of Gronwall-Wendroff inequality, Demonstratio Math. 18, 4 (1985) 1083-1103.
- [5] J. Popenda: On some discrete Gronwall type inequalities, Fasc. Math. 14 (1985) 109-114.
- [6] S.M. Singare, B.G. Pachpatte: On some fundamental discrete inequalities of the Wendroff type, An. Stiint. Univ. Al.I. Cuza Iasi 26, 1 (1980) 85-94.

- [7] E. Thandapani, R.P. Agarwal: Some new discrete inequalities in two independent variables, An. Stiint. Univ. Al. I. Cuza Iasi 27, 2 (1981) 269-278.
- [8] M. Turinici: A class of operator inequalities on ordered linear spaces, Demonstratio Math. 15 (1982) 145-153.

INSTITUTE OF MATHEMATICS, TECHNICAL UNIVERSITY,
60-965 POZNAN, POLAND
Received April 20, 1987.